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AT e, STTI0T Yot foredm T ST=ITE hel 3778,
(i) (a + b)?=a? + 2ab + b? (i) (a - b)?=a? - 2ab + b?,
(iii) (@ + b) (a-b)=a?-Db?

et e = STRINT e Wiefiet Sehdia 2 o vg foral.

) (X+2y)2 =X+  |+ay

(i) 2x - sy)r=[  [-20xy+| |

(i) (101)? = (100 + 1)2 = |+[ [+1°=[ |

(iv) (98)* = (100 - 2)2=10000-| |+ |[=| |

(v) sm+3nysm-3ny = [-[  |=[ |-[ |

AU U3
Tl ;AT 9 AR AT SFABSTAT AERAM (X + a)(X + b) I foedar &,
X b
X| x| xb b
X
ax | ab |[TX |[x*ta + X+
a 5 b a

X
(X+a)(x+b)=x*+ax + bx+ab

(x+a)(x+b)=x*+(a+b)x + ab

@I) (X + @) (X + b) = feram (Expansion of (X + a) (X + b)))

(X +a) T (X + b) =1 T ug THM TEIe gl Ted. I1 U IR FE.
X+a)X+h)=xX+b)+ax+b)=x>+bx+ax+ab

=x*+(a+b)x+ab
X+a)X+h)=x2+(a+b)x+ab




forem =

3@ (1) X+2)(X+3) =X+ (2+3)X+(2x%x3)=X*+5X+6

(2) (Y+4)Y-3) =Y+ @ -3)Y+ @) x(-3) =y’ +y-12

3e1. (3) (2a+3b)(2a-3b) =(2a)’+ [(3b) + (- 3b)]2a +[3b x (-3b)]
=4a°+0x2a- 9b*=4a-9b’

3 ! 3 1) 3 1 3
. m+= | m+=| =M+ |5F5 M+ =X - =M +2M+ =
341, (4) ( 2)( 2) +(2 5 + 3 %2 +2 + 3

3@ (5) (X-3)(Xx-7) =x>+(-3-7)x+(=-3)(-7) =x*-10x+ 21
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\
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< e 5.1

1. fommsu.
(1) (a+2)(@a-1) (2) (M-4)(M + 6) (3) (p+ 8)(p-3)
(4) (13 + X)(13 - X) (5) (3X + 4y)(3X + 5Y) (6) (9X = 51)(9X + 31)
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(1) (a + b)?* =n feram (Expansion of (a + b)3)>

—O)

p

(a+b)¥=(@a+b)(a+b)@+b)=(@+Dhb)@+h)?
= (a+ b)@ +2ab + b?
=a(a*+2ab + b* + b(a + 2ab + b?
=a’+ 2a’b + ab” + ba* + 2ab* + b’

=a’+3ah +3ab*+ Db’

(a+b)y=a+3abh+3ab>+b’

1 TeredT AT ST e HiSaeIet HIal IGTatol 3T,
I (1) (X +3)°

(a+b)y=2a +3ab+3ab*+ b’ Iga=xXx9b =33



SoX 3P = (X HE3IXXEX3+3 XXX (3)+ (3)?
=X+ OX2+ 27X +27
34 (2) (BX+4y)’ = (3X)’ + 3(3X)*(4Y) + 3(3X)(4y)* + (4y)°

= 27X’ + 3 X 9X* X 4Y + 3 X 3X X 16Y* + 64y’
= 27X’ + 108X%Y + 144Xy’ + 64 Y

= () () () ) ) )
_ 8::3 +3(4:;’2j(£)+3(27mj[4':;2 j+ 8’:;3

8m®> 6m 3n n’

3 _

n n  2m 8m’

3@ (4) (41)°=(40+1)*=(40)° +3 x (40)>’x 1 +3 x40 x (1)> + (1)’
= 64000 + 4800+ 120+1 =68921
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1. ToRedR .
) k+4" @ OX+8y B T+M (@) (52
(5) (101)° (6) (X+§] (7) [2m+%j (8) (%’H%}

wAl : ad b A A 9 el YAl Teh TH IR HU. AET I &G a I 34 b
379 3 Sfeeehifardt a8 el 9 &< b 37for 3= a 319 3 sfeeshifedt aam . =
TR ART THR T (@ + b) ST THen 79 TR .

AU AT

QHI) (@ - b)*=nfemar (Expansion of (a - b)"’ﬁ

(a-b)y=(a-b)(a-bh)(@-b)=(a-bhya-b)
=(a-h)@a*-2ab +b?
=a(a’ -2ab +b? - b(a? - 2ab + b?)



=a’-2a’h +ab’-a*h +2ab’ - b’
=a’-3a’h + 3ab’-b’
(a-b)=a’-3a’h +3ab’-b’

3. (1) fEmrsu. (X -2)°

3. (2)

3q1. (3)

(a-by=a-3ah+3ab’-b* A, a=xab=2u,
(X=-2P=(X)P-3xX2x2+3xXx(2)2-(2)°

=X -6X*+ 12X - 8
(4p - 5Q)° == fowar .
(4p - 50)° = (4p)* - 3(4P)*(5Q) + 3(4p)(5Q)* - (5Q)°
(4p - 5Q0)% = 64p°* - 240p*q + 300PQ> - 125¢°

ToredT T ST & 99 AT U (99)° = (100 - 1)°
(99)*= (100)° = 3 x (100)> X 1+ 3 x 100 x (1)? - 1°
= 1000000 - 30000 + 300 -1 = 9,70,299

a0, (4) 9N w9 L

H P+’ +(P-0q)°=p°+3p°q+3pg° +q +p°-3p°q +3pq" - O’
=2p’ + 6pQ°
(i) (2X + 3y)’ - (2x - 3y)*
= [(2X)* + 3(2X)*(3y) + 3(2X)(3Y)” + (3Y)’]
- [(2X)* = 3(2X)*(3y) + 3(2X)(3Y)* - (3Y)’]
= (8X°+ 36X%Y + 54XY* + 27Y’) - (8X’ - 36X%Y + 54Xy* - 27Y°)
= 8X® +36X%Y + 54XY* + 27y’ - 8X® + 36X%Y - 54XYy* + 27y’
= 72X%Y + 54y°

{ 2 Wen aue. |

(i) (a+b)y=a’+3a’b +3ab>*+b*=a’+ b’ + 3ab(a + b)

(i) (a-b)Y’=a’*-3a’h +3ab*-b*=a’-b*-3ab(a-b)
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1. forear =

(1) 2m - 5)° (2) (4-p)’ (3)(7X - 9y)’ (4) (58)°

3 LY 1Y x_3Y

(5) (198) © -1 o] ®F3
2. 9ic3&Y .

(1) (2a+b)*- (2a-b)® (2) (3r - 2k)* + (3r + 2k)’

(3) (4a-3)°’- (4a+ 3)° (4) (53X =7Y)* + (5X + 7y)°

AU oA,

@IV) (a + b+ ¢)? =n foar [Expansion of (a + b+ C)ZD

(a+b+c)? =@+b+c)x((a+b+0)
—a(@+b+c)+b@+b+c)+c@+b+c)
—a’+ab+ac+ab+b*+bc+ac+bc+c?

=a+ b+ c?+2ab + 2bc + 2ac

s[(@+b+c)=a’+ b+ ct+2ab + 2bc + 2ac |2 g7 fires.

3q. (1) fewmsu (p+q + 3)°
=P+ P+ 3+ 2XPXO+2XOX3+2XPX3
=PP+Q°+9+2pg+6q+6p =P +0°+2pg+6Q+6p+9

3a1. (2) o foarr=a =T Siehdid I e fotar.
(2p + 3M + 4n)?

= 2P+ (3MY2 + [ |+2x2pxX3M+2x[_|x4n+2x2px[ |

= 1+om*+[ [+ 12pm+[ |+ |
3. (3) esge. (L+2m+n)? + (I - 2m + n)?

=P +4m*+n*+4lm+4mn+2In + P+ 4m? + n? - 4lm - 4mn + 2In

=21+ 8 m*+ 2n? + 4In
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< TEEd 5.4 >
1. fa=msa. (1) (2p + q + 5)° (2) (M + 2n + 3r)?
(3) (3x + 4y - 5p)* (4) (7m - 3n - 4k)?

2. "W@BEIE (1) (X-2y+ 3)*+ (X + 2y -3)?
(2) (3k =4r -2m)* - (3k + 4r - 2m)*>  (3) (7a- 6b + 5¢)* + (7a + 6b - 5¢)*

S~
e
weEa 5.1 (1) a’+a -2 (2) m*+ 2m - 24 (3) p*+ 5p - 24
(4) 169 - X (5) 92 + 27XY + 20y*  (6) 81X* - 18Xt - 15t
5 14 1 1 5
Hym-sm- — Xt - — —_2_36
(7) 3 5 (6)X* - — 9 5
e 5.2 (1) K+ 12k + 48K + 64 (2) 343X° + 1176X%Y + 1344XYy? + 512V°
(2) 343 + 147m + 21m*>+ m*  (4) 140608 (5) 1030301
(6) X'+ 3X + > + i} (7) g 4 12M° 6m 1
X X 25 125
125x* 15x 3y  »’
(8) ¥’ i y +5x+125x3
weEe 5.3 1. (1) 8m? - 60m? + 150m - 125 (2) 64 - 48p + 12 p* - p°
X = Xy + Xy = 129y 199,
(3) 343x> - 1323x%y + 1701xy? - 729y°  (4) 1,95,112
3001
5) 77,62,392 6) 8p’- 6p + ———
(5) 77,62, ()pp2p8p3
_3, 3.1 x? 9 27
(7) 1 a+a2 a’ (8) 2—7—X+;—7

2. (1) 24a’h + 2b’° (2) 54r* + 72 rk?
(3) -288a* - 54 (4) 250%° + 1470 xy?

waEd 5.4 1. (1) 4p* + q° + 25 + 4pq +10q + 20p
(2) m?> + 4n*+ 9r* + 4mn + 12nr + 6mr
(3) 9X* + 16y* + 25p*+ 24 Xy-40py-30pX
(4) 49m* + 9n? + 16k* - 42mn + 24nk - 56km
2. (1) 2X* + 8y + 18 - 24y (2) 32rm - 48kr
(3) 98a* + 72b* + 50c? - 120bc



